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QUESTION 1

What are benefits of the HPE StoreServ 3PAR architecture? (Select two.) 

A. provides silicon-based hardware acceleration of thin technologies 

B. supports direct SAS connection for up to four servers 

C. provides iSCSI-based asynchronous remote replication 

D. provides a meshed cluster architecture 

E. scales out to meet small and medium-size business virtualization needs 

Correct Answer: AC 

 

QUESTION 2

In the HPE 3PAR StoreServ 8000 series, what is the maximum number of ports in a single node pair for the iSCSl/FCoE
host connectivity? 

A. 2 ports/node pair 

B. 4 ports/node pair 

C. 6 ports/node pair 

D. 8 ports/node pair 

Correct Answer: D 

 

QUESTION 3

A customer requests a network attached storage (NAS) solution that allows Windows users to continue 

working uninterrupted during a hardware failure. 

Which HPE Store Easy functionality supports transparent failover? 

A. Peer Motion 

B. SMB v3 

C. instantOn 

D. Data Guarding 

Correct Answer: D 
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QUESTION 4

What are disadvantages of using Fibre Channel Arbitrated Loop (FC-AL) rather than fabric Channel switched Loop (FC-
SW) topology? (Select two.) 

A. FC-AL topology is usually more expensive than FC-SW. 

B. Only one pair of ports can communicate- at the same time. 

C. Multiple pairs of ports communicate at the same time. 

D. The failure of a port is isolated from the other ports. 

E. The bandwidth is shared among all active nodes. 

Correct Answer: BE 

 

QUESTION 5

Which HPE management tool provides a single, integrated management environment with powerful search capabilities
and an open architecture? 

A. HPE SUM 

B. HPE OneView 

C. HPE Insight Remote Support 

D. HPE Systems Insight Manager 

Correct Answer: B 
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